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FFor each question from 1 to 30, four options are given. One of them is the correct answer. Make
your choice (1, 2, 3 or 4). Shade your answer on the Optical Answer Sheet.

(80 marks)
. - e . : - - - %
1 Which one of the following examples of structuraj and behavioral adaptations ié:correct?
Structural Adaptation Behavioral Adaptation

B Wolves have sharp teeth to tear the Wolves hunt in groups to capture prey
;)S(‘ flesh of their prey. - that is larger.

Eagles have claws to catch and grab |. Eagles have sharp eye-sight to help
M their prey. - h them see their prey from the sky.

Polar bears hide and rest during winter | Polar bears have a keen sense of smell
w@i to conserve energy. . to detect prey from far away.

M Camels hide in the shade to avoid the | Camels hunt for food at night to avoid
Sun's heat, the Sun’s heat.

@ - Haghim conducted a study on the type and number of animals he found in a rotting log

community and a leaf litter community. He then constructed two_pie charts as shown
below. T ——

" Centipedes
20%

Woodlice
25%

Earthworms
23%

Termites
25%

Rotting Log Community Leaf Litter Community

Based on the informafion above, which of the following statement(s) is/arq{ true?

.A/ There are fewer _spiders than termites in the rotting log community.
B, The centipedes in the leaf litier community prey on earthworms only.
Lp_/ All the organisms in each of the community can form a single food chain. -
y There are more ants in the rotting log community than in the leaf iitter
community.

(1) Acnly
B and C only

g :
B3Y A CandD only ;
¥ ABCandD




The graph below shows the amount of waste disposed by a small city from year 2001 to
2009. , —_
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Based on the data abave oﬁly, which @f_.f-hé_following staternent(s) is/are éorrec‘t?‘

& The amount of waste disposed was the least in 2005.
Q,Ba( The amount of waste disposed shows an increasing trend from 2005 to
2009.

:‘@: The amount of waste disposed decreased from 2003 to 2005 because of a
successful recycling campaign in the city.

K~ Aonly
\_(2?( B oniy . P
(3 B and C only

,@Q A, BandC

The picture below shows a boy frying to push a box across the floor-in the direction
represented by the arrow.

box

P

floor

Which of the following way(s) will help the boy push the box across the floor using less
fm , A

A< Increase the mass of the box.
1-BN Add rollers between the box and the floor. .
oz Get another boy to push harder in the cpposite direction.
2B . - Add a layer of oil between the box and the hands of the boy.

B only

% D only
(3~ AandConly
(4 BandD only
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Qammy collected some water specimens from four different ponds, A, B, C and D. He
wanted to find out how clear the water in.these ponds were and set up his experiment as

[P

shown below. Ay :

Control Pand A Pond B Pond C Pond D

To measure the_clarity of the water, he shines a torch from gne side of the beaker to the
![gﬂlaﬁﬁnsmc on the opposite side as Shown below. The datalogger then records the
intensity of light. o -

AR A -t

Water. Beaker

Toreh Light sensor

—Iﬁ/ Datalogger

Pond A Pond B Ponq C Pond D

The results are tabulated in the table as shown.

Intensity of light
recorded (units)

1500 2000 300 1000

From Sammy’s experiment, arrange the clarity of the water in ponds A, B, C and D in
descending order.

The food web below shows the relationship amorﬁl__gi grganisms, P, Q, R, §,TandUina

habitat.
R———s3 U
Q——7 > P € S

Based on the information above, which of the following shows the(Correct Jelassification of
the organisms? -

Herbivores ' - Carn ivores : . Omnivores
h Q ' Tand U ' - Pand S
Rand § P,Q Tand U None

Sand U Tand Q P




electromagnet. Whicif two'afrangements below should he set up to conduct a fair test?

7 Alan wants to find }fkﬁether the number of batteries affects the strength of an

10 turns

10 tums

20tumns

8 The picture below shows a huge electromagnet that is Used in scrap yards to separate the.
magnehc metals from the non- magnet;c metals and non- -metal§”

Which one of the foilbwing items will {ge attrac.tegi‘py the electromagnet?

~ lronrod
2y  Glass botile
A Woeoden stick
¥ Aluminium can



2] The diagrams below show the siages in the life cycle of a mosquito and a butterfly.

In what way(s) are the two organisms at stages A and B as shown above similar?

ZFC  They live in water.

S8~ They undergo moulting.
WF They move about-freely.

They hatched from eggs.

E) Qonly

425 Ronly

~B8 _ Pand S only .
M Q, Rand S only

10 Simon completely filled two identical syringes, gne with air while the other with water, and
covered them with black paper as shown in the diagram below.

black paper plunger
o e X N
sealed - o - ‘ <+—— force
opening T
-‘E'[llllllllf]li(mler
0 . : 10 cm

He then pushed each piunger as hard as he could and measured the distancé X.
Which one of the foliowing shows the correct values of X% >

Syringe with water -~ Syringe with air
x/cem x!cm
£ 10 0
,(32(\) 0 10
(B 10 7
'yq’ 7 10




i1 The table below shows some of the phy§i_ca} characteristics of Vivek and his parents.

Physical Characteristics
Eyes Eyelids Earlobes Hair Length
Vivek brown ] £ ~ single |y detached short
Mr Bala brown doubie attached short
RMrs Bala - grey 1 single attached long ‘

Which one of the following statements i§ true;?\

:eﬁﬁ He inherited all the characteristics from his father.

&2}~ He inherited one characteristic from his father and two from his mother.
He inherited one characteristic from his father and one from his mother.

)~ He inherited two characteristics from his father and one from his iother.

12 Which of the following statements about sexual };eproductidrl in both animals and plants
are-frue? : N C

A Fertilisation occurs.

B The sperm fuses with the egg.

BT -+ The eggs are released from the ovules.
B  The male and female sex cells are required.

S~ Aand Bonly

-~ Aand D only
/ga’(%a// B, C and D only

A B CandD

13 Yanti would like fo investigate how the amount of heat affects ihelﬁﬂm_’a@ig@ of water.
A beaker, filled with 00 ml of water at room temperature, was heated to boiling point for 10
minutes. The beaker of boiling water continued to be heated for another 10 minutes. She

used a laboratory thermometer to record the temperature of the water at a céttain time-
interval.

Which one of the following tables shows the most likely temperature of the water during
this time i_n’terlgrlf?‘ -

Time interval ‘
| Start 10 min | 20" min
Temperature of water / °C 25 100 110
iéf Temperature of water/°C | 25 80 100
K| Temperature of water / °C 25 100 . 100
/;{4:(’ Temperature of water / °C 25 110 100




143 ’&"?imnar glasses, P, QR and S, were pachwfiled with 50mi of water at different
- Memperdiures and placegd.in the same.room ig{gﬁ%&ﬁ%own in the diagram below. Which

glass(es) will have water droplets forming on thé outer Syrface of the glass(es) after some
fime? ' h

gvkﬁ)( Q only

B Ronly :
[ Pand Qonly -
P, Rand S only
25,

15 A group of 4 pupils are discussing the possible ways 1o conserve water as shown by their
statements below. )

Angie : | let the tap run while brushing my teeth.

Bala :itake showers often to cool myself due to the hot weather.

Caili 1 reuse the water used to wash vegetabies to flush the toilet,
Doliah': | use a watering can instead of a hose to water my family’s plants.

Who is / are @ most likely to be conserving water?

, Bala only

2. Callionly
8¢ Angie and Bala only
Caili and Dallah only

16 Which of the following sources of energy ; arg renewable? |

K, Coal

Wind
~C>iNatural gas
w8 Running Water

L/H‘)/ Aand C only

B and D only

ﬁ A, B and D only

B, C and D only




17 Robert placed a torch at position K. The torch shone at the object that was placed at
position M as shown below. A shadowWas cast on the screen.

T oscreen

torch
object

-T— ruler

J K L il N

At which positions of the ruler should the torch and the object be placed so as to cbtain a
smaller shadow on the screen than before?

~ Position of torch Position of object’
LA K N
J K
. C L M
v J N

) A.and C only
A and D only

3 and C only
and D only

SR

18 Samuel classified the energy that the following cbjects possess into 3 group, Pf Q and/] R.}'
There are 2 objects in each group. ) -

A bottle of petrol
A ¢up of ice cream
Moving water in-a river}
Compressed spring in a toy<
Rolling a ball on a flatground ¥ _ _
A stretched rubber band in a catapult <

Which one of the following correctly represents the most likely headings for groups

P, G and R? '
P Q R
, Chemical Potential N
ﬁj/ Energy Sound Energy Kinetic.energy
Chenmical Potential . . ' : '

% ) Energy Elastic Potential Energy Heat Energy

)3)/ Heat Energy Elastic Potential Energy Kinetic energy
i Chemical Potential . . N '
,_}ga/ Energy Elastic Potential Energy Kinetic energy |

A-8



19

20

Which of the following are sources of potential energy?

\,A/ Battery

Compressed air in a rifle
Water stored in the rooftop tank of a building

A and B only

. {Aand Conly

and C only
A BandC

Craig heated some water in a beaker until it boiled. He continued to_ailow the water to > boil

for some time. It was then Ieft on a table to cool. He recorded the results in the graph as
shown below.

80

50

Temperature {°C)

20—

] ] ! 1 ] |
J ! : [ [ !

12 15 18" 21 24 27
Time (minutes)

—_—r—

A 4

[
=]
[£<]

Which of the following statements((or‘r:c;th show. what happened to the water at the
different stages? - -

W Heat is gained during Q to R.
~ Water was heated for 18 minutes.
Water exists in 2 states between P and Q.
=8 Evaporation takes place only at R to § only.

5 A and B only
.BandConly -,
A, B and C only
A, B, CandD only




21 Naufal conducted an experiment with a Wm each try, he only changed the
number of turns of the key and measured the distance travelied by the toy upon release.

wound up toy

Which of the following are possible_aims for the above experiment?

. M To find out if the mass of the toy affects the distance moved by the toy.

;%j?fi"g:r To find out if the number of turns of the key affects the dlstance travelled by
the toy.

~G%,  Tofind out if the surface the toy travels on affects the distance travelied by
' the toy. ,

w;[ﬂ< T.o ﬁr}d out if the potential energy gained by winding up the toy affects the
kinetic energy in the toy.

B only
Aand C only

% B and D.only

C and D only

7

22 Look at the set-up below. The paper spiral began fo spin soon after the circuit was
connected below.

paper spiral .

‘ switch
nichrome wire

batteries

Whlch one of the following correctly describes the > energy changes from the time the swﬁch
“was closed till the time the spiral began to spin?

/H'jf - electrical energy — heat energy + light energy — kinetic energy
electrical energy — kinetic energy — heat energy + light energy

J;,)/ ‘themical potential energy — electrical energy — kinetic energy + heat energy
{4 ‘chemical potential energy — electrical energy — heat energy + hght energy
L

—>kmetlc energy

A-10



23

- The chart below shows how materials W and Y are classified.

Materials
Non : metals Metals
Electrical .Electrical Magnetic Non- K
conducfors insulators magnetic
w Y
~ Which of the following materiafs_could{ W ank ‘Cbe?
w Y
j};ﬂ;i: _ ceramic cobalt
\}&)( rubber silver
j;’t( gold aluminium -
Zas wood stesl
24 Study the flowchart below.
Matter
Y
I;:::Jx Yes | k Yes L Yes o Nickel
No No No
h 4 h 4
Oxygen Giass Copper

Which of the following are suitable questions that can be represented by J, Kand L7,

J

on’
o8
=

K N
DO;Z;ttr?;?quUCt Is it magnetic? Isita solid?
[ sitasolid? D°§§é§rfg?ﬁ?“°t ls it magnetic?
Is it magnetic? Do;zgir?;?f?uct Is it a solid?
Is it magnetic? Is it a solid? Doss it conduct

electricity?

A-11




25 Alexander carried out an experiment in a dark ronm as shown in the diagram below. He
W a_stalk of hydrilla to a |it light bulb connected to 1 battery After 4 hours, he
measured the volume of oxygen collected in the test-iube. )

electric circuit dark reom
AY

s

4|

inverted test tube| 4 hours
filed withwater | —+

later
beaker of hydrilla
water -
At the start of the experiment At the end of the experiment

He then repeated the whole experiment using different number of batteries. The battenes
used were new and |dent|cai and they were arranged in series.

Which one of the following graphs best represents the amount of oxygen collected when
using different number of batteries?

% Volume of A/(2)/\.I0|urne of

oxygen (cm®) oxygen (cm’)
Fy A
|- ] oy ——
1 2 3 Number of 1 2 3 Number of
©  batteries batteries
e Volume of " Volume of
oxygen {cm®) oxygen {cm®)
F A
bl plbpt iy
1 2 3 Number of 1 9 3 Number of
hatteries batteries

-
Y
R

A-12



pients are compatible.
pted by the recipient.

26 The table below shows
'Atick (v') indicates that th

how the blood types of donors and reg
e biood from the donor ean be safely acce

Blood type of donor
Blood type
of recipient A AB 0
A v
B “ — 1
AB v v v v’
o : v
. |
The biood ty_p'é of Jackie and his family members are shown in the table below.
Person Father Mother | Brother Sister Jackie
Blood type | v& | o~ 28 | e | oF ]

If Jackie needs a blood transfusion, who can he safely receive blood from?

w’f Father only

- {7 Father and sister only
% Brother and sister only
\_(jz)/ Father, brother and sister only

27 The diagram below shows some processes taking place between pfénts and animals

carbon
dioxide "

Which of the following best represents the processes (A, B, C and D) invoived in this

interaction?
_ AandB GandD
L,ﬁ( . decomposition | decomposition
(/cz)/ breathing photosynthesis
n_/@)/ photosynthesis photosynthesis
x‘(ﬁ/ breathing decomposition ]

A-13




28 The diagram below shows a simplified diagram of the human circulatory system. The
arrows represent the direction of blood flow in the blood vessels.

Other parts of the

body
X Y
> Heart | i 7
W zZ -
Lungs —

—

-
» Pl

Which pair of blood vessels contains blood righ irqbarbon dioxidey-

;)2%,_ Xand¥Y
Yand Z
“3) . Wand X
4y’ Wandz

- 29 The diagrams below show the cross-section of a stern and part of the human circulatory
system. -

part of human circulatory system

cross-section of stem

Which of the following is a function of both X and Y?

A A Transports food

Transports water
3.  Keeps the organism firm
sk Allows for gaseous exchange

A-14



30 Brandon drew the diagram below to show how sugar and water are transported to and from
different parts of the plant represented by J, Kand L.

K
77
Key:
4 sugar —————
Y | water ------o-- >
L

Which of the following parts of the plant are best represented by J, K and L?

X J K ' L
Af(ﬁ fruits ‘ leaves roots
(2 leaves roots fruits
i roots leaves fruits )
4 leaves fruits . roots -

A-15
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For questions 31 to 44, write your answers in this booklet,
The number of marks available is shown in brackets [ ]atthe end of each question or part question.

{40 marks)

31 Jonathan used the set-up below to heat some seawater in a beaker until it boiled. A metal
‘sheef'was then placed over the beaker. After 157?1?1?%‘5, he noticed that some droplets were

formed at the bottom surface of the metal sheet and these droplets were collected in a cup as
shown below. = - N

metal :
sheet 5

0
0
0 beaker of
seawafer
tripod

bunsen burner

cup

(a) What was collected in the cup? 4 : [1]
(b) State the p roces’which cause the formation of these droplets. : (1]
i, — . - - - - ' - f
{c) Explain why, after some time, thére were less droplets forming on the metal sheet.  [2]
L oa o PR ) . L --.“w\ . . - - m—
; (Go to the next page)
B-1 ' . Score
4




32 The diagrams below show the reproductive parts of a Tree fern and a Dandelion plant.

(a)

g

(b)

(©)

1 ifsse
LIRS
:,a,/:;.ff\:“’c;‘

Dandelion flower Tree Fern

a s

Reproductive part of the -
Tree Fern

Reproductive part of the
Dandelion

Based on the diagrams, what is the most likely method of dispersal for both plants? [1}

-~

State two common features of the reproductive parts of both plants that help them in
their dispersal. 7 1]

The diagram below shows the reproductive part{f_\)%n(i B, )of two other plants ithat
have special structures to help them in their dispersarl. _ _

fibrous

‘ hook-like

husk structure
How are they different in their method of dispersal? i1]

_ ) . i
. —
(Go to the next page)
B-2 Score |~
3




33 Robert had a spring which'is 8cm long. He hung a_20g weight on it and the total length
became 10cm. He added anotRér 20g mass and the total iength became 12cm. He continued

to add 20g mass up to a maximum of 100g and recorded the respective tofal length of the

spring. ) )

. Bem
spring

€)] Draw a line graph based on all the information given for mass up to 100g.

. (b) Give a suitable heading for the Y-axis.

Y-axis

{!”5:,

18

16 ' :

P PRI VP

N

14 R T

12 R =

—
(e}

Hh o o

(2]
(1]

. X-axis

Tyt AR
o

20 . 40 60 80 1

Mass /g

{(Gotothe nextApage)

B-3 Score

-




34 Raymend wanted fo find out if feathers can msulate heatina contamer He set up the
experiment as shown below.

Thermoi )

200m| water at 80°C

=)

Containers

Feathers.

(@) Draw and label the control sef-up in the box below so that Raymond's experiment is a
fair one. 1]

b
e E ke

i
! i

. . '. - E
(b)  Birds have feathers to keep them warm andzgpthem fly. State anether adaptation of

bll'dS and explain how this adaptation helps them fly. 2]
[ —_— R ) . _Z’ - - .
~
——— - - L - —_‘__'—-—_“_ .‘ .
" {Go to the next page)
B-4 ) Score
- 3




35  The diagram below shows a picture of a toy. Bath the toy and the sphere have magnets inside
them. The sphere appears to be ‘floating' in the air.

@)

(k)

(©)

toy

internal magnets

‘floating’ sphere

Label the poles of the magnet in the toy so that the sphere is able to ‘float’ in the air.

(1

It is observed that when the foy is removed, the sphere drops to the ground. Explain

why. (2]
Can part X of the toy holding the magnet be made of steel? Explain why. _ [1]\
_ (Go to the next page)
A '
B-5 . Score
4




36

(b)

materials, W, X, Y and Z.

%

Samuel set up a circuit tester as shown below td- test the electrical conductivity of four

& connecting pdints

He used each material one at a time across the connecting points and recorded his
observation in the table below.

(@)

Materiai

W X

v ;

Z

Did the bulb light up?

Yes No

‘No

Yes

Complete the classification chart below using data from the table above. Wiite suitable:
sub-headings and the letters (W, X, Y and Z} in the boxes provided. 1]

Materials

— -
pd

Samuel next set up the circuit shown below. He wanted to include a switch which couid allow
him to switch on or off one bulb.

Mark with an “X" on the circuit diagram below to show whers he should place the switch.

(1

(Go to the next page)

Score




(c) . Using only batteries, wires and a switch, Samuel set up three different heating devices
as shown below. He wanted to find out which set-up would take the shortest time to
heat up 50ml of water to 30°C. '

Key:

o

=000

battery swifch richrome wire normal wire
1] — H\W ij—o
Set-up E Set-up F Set-up G

Match the line'graphs to the correct set-ups. Write the letters (E, F and G) in the boxes
provided.

Temperature (°C)

A

30 +

]

{11

»

Time (minutes)

(Go to the next page)

Score




37

Sean and Joel set up the experiment shown below.

—

beaker of iodine
satution

—

glass rad

tubing containing
starch solution

The diagrams below show how the tubing of starch solution had changed after the experiment.

At the start of the experiment
(before placing the tubing into the
beaker of iedine)

.

starch solution was
franslucent

30 minutes
————————
fater

At the end of the experiment
{after removing the tubing from the
beaker of iodine)

starch solution had
turned dark blue

Sean did not find any holes on the tublng The beaker of iodine solution also did not turn dark
blue -at the end.of thé experiment. He was puzzled by his observatron Joel hinted that the

tubing resembled a part of a cell.

(a) Which patrt of the cell does the tubing resembie? ' 1]

(b) Explain your answer in (a).

ey

(Go to the next page)

Score




() The boys then examined some freshly plucked leaves under a microscope. The
diagrams below show the changes that occur in a leaf seen under a microscope.

guard celis guard cells

X is an opening found between the two guard celis and its size is affected by these two
cells. When the plant is placed under strong light, it is observed that the size of X
increases. Explain why X becomes larger. [1]

38 Study the food chain shown below_

The graph below shows what hapiBhs when the popuiationof organism S increases. Identify
the correct graphs for the respecti\?"g %am‘sms by writing the letters P, Q, R and S beside the

line graphs in the boxes provided. [2}

Number of organisms

- (Go to the next page)

B-9 _ Score




39 Joseph and_\?@g@cjﬁ think that meat is easier to digest than cheese. They conducted the
experiment shown below to test théir hypothesis. —_— :

stapper

500ml conical flask

200mi of acid
in each flask

cheese
cubes ~

Set-up R Set-up § .

.

Their experiment wa@ndisturbed in the |aboratory for three days. At the end of the 3°
day, Joseph removed mixture from their respective flasks and measured the volume of
each type of remaining food.

(a) The boys concluded that meat is easier to digest than cheese. What would they have
observed in their experiment in order to arrive at this conclusion? ' L

i

T I

(=) Benedict reminded Joseph that it was impo,rfan_t to keep'the size of the cubes of meat
and cheese the same before the experiment started. How would this help to ensure
that the test is fair? ' [11

5,

' (G; to the next page)

T B-10 : Score




40

Jeremy wanted fo find out if leaves can give out water in the form of water vapour, He
prepared Set-up Y as shown below near a window. -

(a) Using only the apparatus provided, draw a labelled diagram to show how his control
(Set-up Z) should look like in the space provided. You need not use all the apparatus.

(2

plastic measuring 500mlofred . plantwithout plant without normal plant
bag cylinder coloured water roots leaves

AN
. - LT AN L
!
-plastic bag Ii
P
plant -
measuring . !
cylinder with
300inl red - |
coloured ) |
water - . -
. . & Setupz

Jeremy noticed droplets of water on the_inher surface of the nizstic hag in 'Set«up Y a few
hours later. As such, he concluded that leaves can give out, water in the form of water vapour.
Looking. at Jeremy’s experiment, ‘his classmate. Rayner, commented that it was also important

to add a tayer of ol to prevent the water from’ evaporating. This would then allow Jeremy fo
cegnclude that plants can transpire. '

(b) Was Rayner's suggestion for the change necessary for the conclusioh to be made?
Explain your answer. ' [1]

[ i

(Go to the next|page)

|
;
N

B-11 : - Score




41 The picture below shows two fruits, grapes and mango.

Seeds

grapes ) _ mango

. (a) State the difference between the grapes and the mango in terms of their method of

seed dispersal. . ) ”
e ferr—] )
(b) ~ Grapes have a higher chance of reproducing. Explain why. [1]
b L
" (Go to the next page)

B-12 ‘Score




42 The diagram below shows two beakers each containing 20 Jmi of water and placed in a room
with a temperature of 25°C.

25°C

Beaker X Beaker Y

Daniel pourecl_t“)_()_ml of water from one of the above beakers to the gther. He measured the
temperature of the water in both beakers and recorded his readings in the table below.

Time Temperature of water {°C )
(minutes) Beaker X BeakerY
0 - 5 25
5 8 25
10 11 21
15 14 22
20 18 23
25 22 24

30 25 : 25
60 25 ' ?
{a) . Which beaker did Daniel pour the 50mi of water into? []

(k) - "What wéuld be the most likely temiperature of the water in Béaker Y at the 60" minute?

4]
(c) Based on the table, explain the change in temperature for the water in Beaker X for the
duration of the expenment . oo : 1
" (Go to the nextpage)
B 3

l H
’

Scou— K




43

S (e)) Suggest.a way wiy

Dooe)

<h ‘}géf can cool the water in Beaker Y rapidly without removing it

from the table?

-

——

(1]

The classification table groups some animais according to their body coverings.

Body coverings of animals
Hair/Fur Shells z Scales
rabhit ciéb - gstrich gotfish
MORKEy prgdvin kingfisher cobra
(a) .Whatis the sub-heading that represents Z7? (1]
(b) Under which sub-heading would you place a dolphin? N |
{c) 7n the table below, classify the animals based on another characteristic such that 3
" animals are in one group and the rest are in another group. Give suitable headings for
each group. {1
Animals
, .
_— | —
!.
. :
—
~Z . M [
L
(Go to the nextpage)
¢ paoe)
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44 Roy wanted to find out how the height of the ramp affects the time taken for the toy car to
reach the end point of the ramp. He set up the experiment as shown below.

starting point

ramp

ending point

box

(a) Tick ( v') the variables that must remain unchanged in the experiment. (11
Variables that remain unchanged Tick ()
Surface of the ramp : ' o’
Mass of the toy car , -
Height of the box , A
Distanced travelled by the car 7

(b) Roy observed that the higher the ramp was raised, the faster the toy car moved.

Explam his observation. (1]

RV P

END OF PAPER

B-15 . Score
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Answer

. 1 11. 3 21. 3
2. i 12. 2 22. 4
3. 2 13. 3 23. 2
4, 1 14, 1 24. 2
5. SR 3
6. 2
7. P 2
8./ 2
ol o : 2
10, =~ A0, 20. 4
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31a)Puf §‘collected in the cup.

31. b)Eva‘por‘ s¢ 1) uj{f’f?, .. ensatron

31.c)The" 4

& , ndﬁmall x
32. c)One is dl%g‘eriyé‘ ,\Eﬁ wate
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Answer Key


34.b)They also be strong muscles in their wings to help them fly through strong
winds,
35.a)

B

*Hoating” nphere

4'5‘1’.?
tti%ctlve force to hold the magnet in the air and gravit’f Yould pull
! -

Temperature (°C)
4

36.c)

30—+

26 -

Time {minutes)




42.a)Beaker Y
42.b)it would be 25°

42.c)Heats was gained from the surrounding until it became similar fo the room

temperature.

A3.bYUnd L hair/Fur

[43.¢) ' Live on Land _ Live in ocean
~ X fod o
ek E;;afﬁélt Gold fish
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37.‘a)cell memibrane
37.b)lit allows iodine ton pass through but not the starch solution.
37.c)X is used to allow gaseous exchange to take place between the plant and the

surrounding and it also release excess water.

Numbay of organisms

38. ) -

@)/

41.a)The grape seeds are swallowed and passed out of the animal while the mango

seed is being thrown away.
41.b}It has more seeds than a mango.




